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One-eighth of an 29K — T3N3 ' TN

OVERVIEW'
The 71wn assesses the value of a fv17D as one eighth of an 70°X. Our NMBOIN
qualifies this ruling.

modoIn explains that this ruling applies only -
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When the z°7e°% are at their proper valuation’; however when the
2"MPOR are devalued3, then the 717D is one sixth of an 70°X as the N=na
states later.*

SUMMARY
There are eight N7 in an MO°X when the 70X is properly valued; when the
70°X 1s devalued there are six NMWYIID in an TO°X.

THINKING IT OVER
If the value of a 7”75 can be a sixth of an 70X why does the 1wn state an
eighth of an 1o°x?

' See previous 11121 7"7 MdOIN (footnote # 3).
% This means that there are 24 070X in a 7.
? There are 36 0™0°X in a 7.

4R

3 See 1"mx footnote # 386.
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